Mann-Whitney U Table
For one-tailed tests, simply double the value of alpha and use the appropriate two-tailed table.

Alpha = .01 (two-tailed)

ni\n2| 2 |3|4|5|6|7|8|9|10({11(12(13[14|15|16|17|18|19|20
2
3 0|0|O0|1 11222 2|3]3
a4 Ojo|1|1]|2]2]3 5|15]|6/|6 8
5 oO|1|1(2|3|4|5|6|7|7|8|9|10[11]|12]13
6 0|1|2(3]|]4|5([6]|]7|9(10]11|12(13|15|16(17|18
7 0|1|3|4|6|7|9(10]12|13(15|16|18(19|21|22(24
8 124|679 |11|13[15]17|18(20]22|24(26|28)|30
9 0|13 (5|79 |11|13]|16|18(20|22|24(27|29|31(33]36
10 0|12|4|6|9|11]|13|16(18|21|24(26(29|31|34|37|39]|42
11 0|2 |5(7]10|13|16|18)|21|24(27|30|33(36|39|42(45]|46
12 13|69 |12(15|18|21|24(27|31|34|37(41|44|47|51(54
13 1(3|7)10(13(17]|20(24(27|31|34(38|42|45(49|53|56/|60
14 1 (4|7 |11|15(18|22|126(30|34|38[42|46|50|54|58|63|67
15 2| 5|8 |12(16|20|24(29|33|37(42|46|51(55|60|64|69|73
16 2| 5|9(13|118]22(27|31|36|41(45|50|55|60(65|70|74|79
17 2| 6]10/15(19]|24|129(34|39|44(49|54|60(65|70|75(81]|86
18 2|6 |11(16|21|26(31|37|42|47(53|58|64|70(75|81|87|92
19 0|3 |7 (12(17]|122|28(33|39|45(51|56|63(69|74|81(87|93)|99
20 0|3 |8 (13|/18)|124|30(36|/42|46|54(60|67|73|79(86|92]|99|105




Alpha = .05 (two-tailed)
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Alpha = .10 (two-tailed)
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